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All India MAHA Mock: IBPS RRB Clerk Prelims (8t August 2019)

Solutions

$1. Ans.(a)
Sol.
LL<R(True) II. T = V [False)

S2. Ans.(c)
Sol.
LE>A [False) II. A=E (False)

S$3. Ans.(b)

Sol.
1.0 = [ (False] II. H = E [True)

S4. Ans.(d)

Sol.
I.E = M (False] II. R = O (False]

S5. Ans.(e)
Sol.
LU <Y [True) ILT =X ([True)

$6. Ans.(b)
Sol. E

S7.Ans.(d)
Sol. Z

12 Months Subscription

$8. Ans.(c)
Sol. Two - 9%E, 7@E — ® R RR S

S9. Ans.(d)

Sol. Four - SA$, WR9, QU@, MB& S U PRE M E

$10. Ans.(e)
Sol. @3U

All Bank Video Courses
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S11. Ans.(e)

Sol. M lives on floor number 5. N lives on floor number 3. Two floors are there between the floor on which
M and L live. O lives immediately above P. Three floors are there between the floors on which P and Q
live. There will be two possibilities

Casel Casel

Floor Person Floor Person
9 9 O
] L 8 P
7 0 7

] P &

5 M 5 M
4 4 Q
3 N 3 M
2 Q 2 L
1 1

O lives on one of the floor below vacant floor. This will eliminate Case 2, R lives in one of the floor above S.
So the final arrangement will be

Floor Person
9 Vacant
g L
7 0
B P
5 M
4 R
3 N
2 Q
1 3
$12. Ans.(a)

Sol. M lives on floor number 5. N lives on floor number 3. Two floors are there between the floor on which
M and L live. O lives immediately above P. Three floors are there between the floors on which P and Q
live. There will be two possibilities

Casel Casel

Floor Person Floor Person
9 9 8]
] L 8 p
7 0 7

) P G5

5 M 5 I
4 4 Q
3 N 3 M
2 Q 2 L
1 1
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O lives on one of the floor below vacant floor. This will eliminate Case 2, R lives in one of the floor above S.
So the final arrangement will be

Floor Person
9 Vacant
g L
7 0
B P
5 M
4 R
3 N
2 Q
1 3
$13. Ans.(b)

Sol. M lives on floor number 5. N lives on floor number 3. Two floors are there between the floor on which
M and L live. O lives immediately above P. Three floors are there between the floors on which P and Q
live. There will be two possibilities

Casel Case2

Floor Person Floor Person
9 9 8]
] L 8 P
7 0 7

] P B

5 M 5 M
4 4 o]
3 N 3 M
2 Q 2 L
1 1

O lives on one of the floor below vacant floor. This will eliminate Case 2, R lives in one of the floor above S.
So the final arrangement will be

Floor Person TEST SERIES

9 Vacant Bilingual

8 L Video Solutions

7 0

6 P IBPS CLERK 2019
5 M

: 3 PRIME

. 5 85+ TOTAL TESTS

1 3

Validity : 12 Months
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S$14. Ans.(d)

Sol. M lives on floor number 5. N lives on floor number 3. Two floors are there between the floor on which
M and L live. O lives immediately above P. Three floors are there between the floors on which P and Q
live. There will be two possibilities

Casel Casel

Floor Person Floor Person
9 9 O
] L 8 P
7 0 7

] P &

5 M 5 M
4 4 Q
3 N 3 M
2 Q 2 L
1 1

O lives on one of the floor below vacant floor. This will eliminate Case 2, R lives in one of the floor above S.
So the final arrangement will be

Floor Person
9 Vacant
g L
7 0
B P
5 M
4 R
3 N
2 Q
1 3
$15. Ans.(c)

Sol. M lives on floor number 5. N lives on floor number 3. Two floors are there between the floor on which
M and L live. O lives immediately above P. Three floors are there between the floors on which P and Q
live. There will be two possibilities

Casel Casel

Floor Person Floor Person
9 9 8]
] L 8 p
7 0 7

) P G5

5 M 5 I
4 4 Q
3 N 3 M
2 Q 2 L
1 1
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O lives on one of the floor below vacant floor. This will eliminate Case 2, R lives in one of the floor above S.
So the final arrangement will be

Floor Person
9 Vacant
] L
7 0
3] P
5 M
4 R
3 N
2 Q
1 3
$16. Ans.(b)
Sol.

S

pagers

For I - Since, there is no direct relation between element tubes and mobiles. Hence, Conclusion I cannot be
concluded.

For II - Since some pagers are tubes and no tube is cycle therefore some pagers are not cycle will be true.
Hence, Conclusion II can be concluded.

$17. Ans.(b)
Sol.

For I - From Venn diagram it is clear that milk cannot be yogurt. Hence, Conclusion [ cannot be concluded.
For II - Since, all bread is butter and no butter is yogurt therefore some yogurt is not bread will hold true.
Hence, Conclusion II can be concluded.

$18. Ans.(c)
Sol.
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For I - Since there is no direct relation between element pages and paper. Hence, Conclusion I will not hold
true.

For II - Since no negative conclusion can be drawn from positive statements therefore Conclusion II cannot
be concluded.

Since the elements are same and some & some not case is mentioned. Therefore, “Either —-Or” case will be
concluded

$19. Ans.(a)

Sol.
C Geondd o Dot (2

For I - Since, there is no direct relation between element wine and scotch, therefore possibility case will
hold true. Hence, Conclusion I can be concluded.

For II - Since, there is a direct relation between rum and vodka, therefore possibility case will not hold true.
Hence, Conclusion II cannot be concluded.

$20. Ans.(d)
Sol.

ED L ) HCe>

For I -Since there is no direct relation between burger and wraps we cannot conclude that Some burgers
are Wraps. Hence, Conclusion I cannot be concluded.

For II - Since, no conclusion can be drawn from two negative statements. Hence, Conclusion II cannot be
concluded.

$21. Ans.(c)

Sol. U sits third to the right of P and one of them sits at the end of the row. A sits at the right end of the row.
Three persons sit between A and D. T sits to the immediate left of U. Two persons sit between T and Q. Q
who faces B sits to the immediate right of S. C faces R. There will be two possibilities.

Case 1 Case 2

A B cC D

s @ P RT U » r 1 us aq

E sits to the immediate left of C. So Case 1 will be eliminated. The final arrangement is:
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S$22. Ans.(b)

Sol. U sits third to the right of P and one of them sits at the end of the row. A sits at the right end of the row.
Three persons sit between A and D. T sits to the immediate left of U. Two persons sit between T and Q. Q
who faces B sits to the immediate right of S. C faces R. There will be two possibilities.

Case 1 Case 2

A B cC D

| |
SQPRTUPRTUSQ

E sits to the immediate left of C. So Case 1 will be eliminated. The final arrangement is:
A C E F D B

$23. Ans.(d)

Sol. U sits third to the right of P and one of them sits at the end of the row. A sits at the right end of the row.
Three persons sit between A and D. T sits to the immediate left of U. Two persons sit between T and Q. Q
who faces B sits to the immediate right of S. C faces R. There will be two possibilities.

Case 1 Case 2

A B cC D

P R T u s Q
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E sits to the immediate left of C. So Case 1 will be eliminated. The final arrangement is:
A C E F D B

P R T Uu s Q

S24. Ans.(b)

Sol. U sits third to the right of P and one of them sits at the end of the row. A sits at the right end of the row.
Three persons sit between A and D. T sits to the immediate left of U. Two persons sit between T and Q. Q
who faces B sits to the immediate right of S. C faces R. There will be two possibilities.

Case 1 Case 2

A B cC D

|
I
P R T U S Q

E sits to the immediate left of C. So Case 1 will be eliminated. The final arrangement is:
A C E F D B

S Q0 P R T u

P R T u s Q

$25. Ans.(e)

Sol. U sits third to the right of P and one of them sits at the end of the row. A sits at the right end of the row.
Three persons sit between A and D. T sits to the immediate left of U. Two persons sit between T and Q. Q
who faces B sits to the immediate right of S. C faces R. There will be two possibilities.

Case 1 Case 2

A B cC D

P R T u s Q
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E sits to the immediate left of C. So Case 1 will be eliminated. The final arrangement is:
A C E F D B

$26. Ans.(e)

$27. Ans.(b)
Sol. Niece

$28. Ans.(d)
Sol.

>

Piyush 16th from left end

Total 27 students Brije "h<

13th from right end
No one sits between them.

$29. Ans.(d)
Sol. (10 x3+16 +4 -2) =32

$30. Ans.(a)
Sol. No pairs of letters in the word “CAPSULE”.

$31. Ans.(b)
Sol.

N L N ULTIMATE

Complete Package

| R
™ e 4 IBPS PO PRELIMS
ALL SUBJECT

(7+2) =9m Hindi & English With eBook

10 Adda247 | No. 1 APP for Banking & SSC Preparation
Website: bankersadda.com | sscadda.com | store.adda247.com | Email: contact@bankersadda.com

LIVE BATCH A

B
wnd
Y



https://store.adda247.com/product-onlineliveclasses/2823/IBPS-PO-PRELIMS-%7C-ADDA247-ULTIMATE-%7C-The-Complete-Package-Live-Classes

$32. Ans.(c)
Sol.
2Zm D

2m
4m N

>

Em A \;’
South
$33. Ans.(c)
Sol.
(+)F ——=5(-)
(+)N M(-) R(+)— V()
P(-) H()
S34. Ans.(e)
Sol.
(+)F —=5(-)
(+IN=mM(-) R(+)—V(-)
P(-) H()
$35. Ans.(c)
Sol.
(+IF ——=5s(-)
(#IN=mM(-) R(+)— V(-

P(-) H()
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$36. Ans.(b)
Sol. V sits opposite to W. Q is an immediate neighbor of W. S sits third to the right of Q. P is an immediate
neighbor of V. We get two possibilities

Case 1 Case 2
v v
P
P
5 s
Q
Q
w W

U sits opposite to T. This will eliminate Case 2. S is not an immediate neighbor of T. So the final arrangement
will be:

$37. Ans.(c)
Sol. V sits opposite to W. Q is an immediate neighbor of W. S sits third to the right of Q. P is an immediate
neighbor of V. We get two possibilities

Casel Case 2
v \)
P
P
5 s
Q
Q
w w

U sits opposite to T. This will eliminate Case 2. S is not an immediate neighbor of T. So the final arrangement
will be:
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$38. Ans.(a)
Sol. V sits opposite to W. Q is an immediate neighbor of W. S sits third to the right of Q. P is an immediate
neighbor of V. We get two possibilities

Casel Case 2

v v
P‘
P‘
s s
Q
Q
w w

U sits opposite to T. This will eliminate Case 2. S is not an immediate neighbor of T. So the final arrangement
will be:

$39. Ans.(e)
Sol. V sits opposite to W. Q is an immediate neighbor of W. S sits third to the right of Q. P is an immediate

neighbor of V. We get two possibilities
Casel Case 2

v v
P
P
s S
Q
Q
w w
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U sits opposite to T. This will eliminate Case 2. S is not an immediate neighbor of T. So the final arrangement
will be:

$40. Ans.(d)
Sol. V sits opposite to W. Q is an immediate neighbor of W. S sits third to the right of Q. P is an immediate
neighbor of V. We get two possibilities

Case 1 Case 2
v v
P
P
s S
Q
Q

b w
U sits opposite to T. This will eliminate Case 2. S is not an immediate neighbor of T. So the final arrangement
will be:
S41. Ans.(b)
Sol.
Letsum =Rs. P '-'16§%=5—;%
-~ 1250 = P 3x50

1003

~P=2,500
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S$42. Ans.(a)

Sol. BANK & INSURANCE
Let fraction =§ 2019
aTq T = PREMIUM PACKAGE
oz . Mocks | Practice sets | eBooks
a3
=:-L—:’ = g 1000 Total Tests
P _35 500 + eBooks
. Validity: 12 Months | Bilingual
$43. Ans.(c)
Sol.

Required C.I. paid by Rajjo to PNB
_ 100)? _

— 6300 [{1 +22) 1]

= 6300 X ;

= 4900

S44. Ans.(d)

Sol.

Savings of Raheem = 100 - (36 + 40)
= 249

ATQ, 24046 — 14,400

= 100% — “=* X 100 = Rs. 60,000

4

$45. Ans.(a)
Sol.
Let present population = P

: — 2043
% 21,600=P(1+ mj

—Pp= 21,600x125
216
=P=12500
$46. Ans.(b)
Sol.
?7=3x1064+5x90-6x 49
=474
S$47. Ans.(c)

Sol.
7X5=-"2 600 +—— X 225
100 100
=198 + 99
=7=594
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$48. Ans.(d)
Sol.

?=1151+ 1111+ 111
=137.31

$49. Ans.(b)
Sol.
?H2=606+ 30
=636
=7=318

$50. Ans.(c)

Sol.
7=1694 289 +529-576- 216
=195

$51. Ans.(a)
Sol.

Required percentage = i—; x 100
=:6ﬂqﬁ

$52. Ans.(b)
Sol.

Required average =

| =

X (64 + 60 + 72 + 40 + 84)

1320
= 64

$53. Ans.(c)

Sol.

Required ratio = M
(60+40]

— 10 _7

TR

S$54. Ans.(d)

Sol.

Required difference

= (60 + 80 + 45 + 75 + 90) -(64 + 60 + 72 + 40 + 84)
=350 —320

=30

$55. Ans.(b)
Sol.

Required percentage =

100 20
= = —104
3

a0—84
£l

* 100

15

Zop
67 %

12 Months Subscriptior’

RANK

SUPREME

All Bank Video Courses
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$56. Ans.(a)
Sol.

Series is
474+8=12.7

12.7 + 16 =28.7
28.7 4+ 32 =607
60.7 +64=1247
124.7 + 128 = 252.7

$57. Ans.(b)

Sol.

Serjesis1l ®x3+1=4
4x3+2=14

14 x3+3=45

45 x 3+ 4=139

139 x34+5=422

S58. Ans.(d)
Sol. Pattern is
5 16 32 55 87 130
| T I Tl I |
+11 +16 +23 +32 +43
| T T I |
+5 +7 +4 +11

$59. Ans.(c)
Sol.

Series is

212 -1 =441 -1 =440
252 -1=625-1=624
202 -1 =2841-1= 840
33°-1=1089-1=1088
372 -1=1369-1=1368
41 -1=1681-1= 1680

$60. Ans.(d)
Sol.

981 - 20 =961
961-25=936
936 -30=906
906 - 35 =871
871-40=25831
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S$61. Ans.(a)
Sol.

Let length of train A = 3x
Length of train B = 5x

Speed of train A=72 x 15—8= 20 m/sec

Speed of train B = 54 x % = 15 m/sec

ATQ,

B =16
20+15
=x=70

~ LengthoftrainB=5x 70=350m

$62. Ans.(c)

Sol.

(Profit of Ramesh) : (Profit of Ramu) : (Profit of Keshav)
= 36000 x 12 : 48000 x 12 : 24000 x 6

=3:4:1

.. Profit of Ramu = E 6400

= Rs. 3200

$63. Ans.(d)
Sol.

Let the present age of Pand Q is P years and (Q vears respectively
P+ Q=054 (D
P+4 2

And, —=-
Q+s 3

=3P+12=2Q+8
=3P-2Q=-4 (11)
Solving equation (1) and (1I)
(P+Q=54)x2
3JP-2Q=-4

5P=104

= P = 20.8 years

S64. Ans.(b) TEST SERIES
Sol. Bilingual
Total no. of ways = — (v 24 &2G) Video Solutions

2i=21

=180

IBPS CLERK 2019

$65. Ans.(c) PRIME

Sol.
Favourable cases =(1,3,5) =3 85+ TOTAL TESTS

Possible cases =6

-~ Required probability =§ = %

Validity : 12 Months
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$66. Ans.(e)

Sol.

Lx*4+9x—22=0
=>x?+11x-2x-22=0
=(x+11)(x-2)=0
=x=-11,2
IL2y*-7y+6=0
=2y -4y-3y+6=0
= 2y(y-2)-3(y-2) =0
= (y-2) (2y-3)=0
=y=22

Mo relation

S$67. Ans.(e)

Sol.

L.2y*-13y-34=0
=2y*-17y +4y-34=0
=y(2y-17) + 2(2y-17) =0
= (2y-17) (y+2) =0
=y =g,—2
IL.3x°-11x-20=0
=3x"-15x+ 4x-20=10
= 3x (x-5) + 4(x-5) =0
= (x-5)(3x+4)=0

—4
::"X:51?

No relation

$68. Ans.(b)

Sol.

Lx* =256
=>x=+14

ILy* - 16y + 64 =10
=(y-8)*=0
=y=8

V=X

$69. Ans.(e)

Sol.

Lx*-46x+528=0
=x*-24x-22x+528=0
= (x-24) (x-22) =0
=x=24,22

II. y*-48y+572 =0

v -26y-22y+572=0
(y-26) (y-22) = 0

v =26, 22

Mo relation

Adda247 | No. 1 APP for Banking & SSC Preparation

19
- Website: bankersadda.com | sscadda.com | store.adda247.com | Email: contact@bankersadda.com




$70. Ans.(b)

Sol.
L2x+3y=4
IL.4x+ 5y =6

Solving eq. (I) and (II),
(2x+3y=4) x 2
4x+ 5y =06

y=2

Puty = 2ineq. (I),
2Zx+6=4

=x=-1

V=X

$71. Ans.(c)

Sol.
T=294170-115
=84

$72. Ans.(d)
Sol.
40

22 =22 v 420 + = x 200
100 100

=168 + 88
= 256
=7=+116

$73. Ans.(b)
Sol.

2% %7=1098
100

= 7 = 5490

S74. Ans.(a)

Sol.

3-1.{‘.‘—':| . 38,37 3"
10%07+2  10%x10%x%10%

- e
(0.3)¥7+2) = s = (0.3)°

Sa(2+2)=8 ULTIMATE

=7=0 Complete Package

S75. Ans.(b) I ms

Sol.

?7=12+28+36-8 ALL SUBJECT

=76-8
= 68 Hindi & English With eBook
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$76. Ans.(a)

Sol.
?=13><4+1?><5—44><E
=-138

S$77.Ans.(e)

Sol.

7=22 % 125+ 22 x 150
100 100

— 10200

100
=102

$78. Ans.(c)

Sol.

7=Ix¥x¥xs1
3 7 3

= 2700

7

$79. Ans.(b)

Sol.
?7=4504+13-28+ 75
=510

$80. Ans.(a)
Sol.

7=(3+4-4+5)+G+o—24

-2+ (3)

3

20

)

1.

BANK & INSURANCE
2019

PREMIUM PACKAGE

Mocks | Practice sets | eBooks

1000 Total Tests
500 + eBooks

Validity: 12 Months | Bilingual
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